OO0D00O00 cOODOODO No. 1
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1.0a0 AN B = {3}.
ObO0AUB = {1,2,3,4,6}.
OcOA={4,56}.
0d0AnB = {1,2}.
2.0a024 = {0, {1}, {2}, {3}, {1,2},{1,3},{2,3},{1,2,3}}.
ObOAx B={(1,1),(1,2),(2,1),(2,2),(3,1),(3,2)}.
30a0A={3x1,3x2,...,3x66}0000n(A)=660000
ObOB={5x1,5%x2,...,5x40}0000n(B)=400000
Oc0ANB={n|n€eUn=15kkeN}00000000ANB={15x1,15x2,...,15x 13} O
O000n(ANB)=130000
O0dOn(AUB)=n(A)+n(B) —n(ANB) =66+ 40 — 13 = 93.
Oe0n(B) =n(U) — n(B) =200 — 40 = 160.
Of0n(ANB) =n(B) —n(ANB) =40 — 13 = 27.
40a00003z € R,z ¢ Q.
r=+200000x€RO002¢QO000000000000
ObO0OO0OVr €Z,x ¢ R.
000000000000000000 0000
5.ncNOOOMn060000000r0300000000000000000000000000
0000»,eNOOOOODOOODOOOOOOOOO
O0@n030000000n0 60000000
n=300000r0300000000600000000000000neNOOOOORD 3
000000020 600000000 0000000
O@n060000000000n0300000000
n=300000n0 600000000030000000000000neNOOOOORDOG6
0000000000.03000000000 0000000
00Mn030000000000nr0600000000
n060000000000000n=6k0k00000000000000R=3-2k0000n0
300000000 300000000000000000000000O000»eNDOOOOO
n030000000000R0 6000000000 00000
6.0a0000 yeZ00000r=—y+100000f(z)=f(-y+1)=—(—y+1)+1=y0000
0000 f0000000
O000ay,a; €Z00000f(a1) = flap) 0000000000—a1+1=—ap+1000000
O0a=a000000f0000000
fO000000f 2)=—-2+1(=f(2))0000000(fo f)(z) =f(f(z))=f(-z+1) =
—(z+1)+1=20000fof0Z00000O0O0O0O00O
D00 x€Z00000g(x)=200000000¢g(z)=10002€Z00000000000
¢g00000000




O00ay,a0 € Z00000g(a1) =9g(a) 0000000000 2a; =20 00000000
ap=a000000gqg0OO00O0OO0O0O

ObO(fog)(z) = flg(x)) = f(2z) = =22+ 1.
(go f)x) =9g(f(x) =g(—x+1)=2(-z+1) = 20 +2.

700000000 2€A00000z—2=0030000000x=2 (mod 3)0000
O000™z,y € ADlz=y(mod3) 0000000000 D0O0Oz—y0O 30000000
y—zx=—(x—y)0300000000000y=z (mod3)0000
O000Mz,y,z€e AUz=y (mod 3)00 y=2 (mod 3) 0000000000000z —y,y—2
030000000z—z2=(z—y)+(y—2)0300000000000z=2 (mod3)0000
0000000 RODOODOOODO
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